PHYS 101: General Physics KOC UNIVERSITY Spring Semester 2016
College of Arts and Sciences
Section 2 Quiz 1 12 September 2016

Closed book. No calculators are to be used for this quiz.

Quiz duration: 10 minutes
First Name: Last name: Student ID: Signature:

Find a unit vector that lies in the xy plane and is perpendicular to the vector:
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KOC UNIVERSITY Spring Semester 2016

PHYS 161: General Physics
College of Arts and Sciences

Section 1 Quiz 1 12 February 2016
Closed book. No calculators are 0 be used for this quiz.
Quiz duration: 10 minutes
Student 1D: Signature:

First Name: Last name:

Find a unit vector that is perpendicular to both 2i + 3k and 41+ 5j .

Pmdicul-u do both vectors.

Cvross pro:!ue’t of +wo ve ctors _is pes
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KOC UNIVERSITY Spring Semester 2016

PHYS 101: General Physics
College of Arts and Sciences
Quiz 1 12 February 2016

Section 3

Closed book. No calculators are to be used for this quiz.
Quiz duration: 10 minutes
First Name: Last name: Student ID:

Signature:

Kﬁ) for the vectors

Use direct substitution and evaluate A x (B x C) and —E(K -C) - c (
t- You should obtain the same result for both expressions.

A=2i+j,B=j andC=k.Hin

Ax(BxC) = (24+3) ® (3
= (7A«3) xh .
< () (Gxt)=0-k=
E(R a} - E('ﬁ\ %)= 3[(2?*3\-141“1[(2?*3)‘3]
= F2nkadl) - k(21433
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=-k




